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000000 Fx(x)=Pr{X <z}

000000 fy(z) =4

00 Fx(z)= ["_ fx(y)dy

000 E(X)= [ zfx(z)ds

00 V(X) = B(X - E(X))?) = B(X?) - E(X)?

000 X,YOOODOOODOOO cov(X,Y) = E{X - EX)(Y - EY)}00O
cov(X,X)=V(X)O

0000 p(X,Y) = cov(X,Y)//V(X)V(Y)D

2 OO0

21 0O00O0b0Oooood

e 000D U(0,1)00000 fx(x) 00000 Fx(z) 00000000

# run0006.R
# 0000 uo,1) OODOODOODOOO



x <- seq(-0.5,1.5,1ength=300) # (-0.5,1.5) 0000 300000000
plot(x,dunif (x),type="1") # DO DOOOOOOOO"1"O"line"000000OO00OOO
O000o0o00oDooooooo

dev.copy2eps(file="run0006-d.eps")

plot(x,punif (x),type="1") # 000000000

dev.copy2eps (file="run0006-p.eps")

rm(x) # JO00O00OO0O0O0OOO
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# run0014.R
# 0000 u,1) OOOO00Ooo

x <- runif (1000) # (0,10 0O0OOOOOO 1000000

plot(x,1:1000) # DO OOOODOOOODO1,...,100000000
dev.copy2eps(file="run0014-r.eps")

hist(x) # OOOO0O0O

dev.copy2eps(file="run0014-h.eps")

plot(sort(x),1:1000,type="1") # 0O O0O0O0OOOOOCOODOOOODOO
dev.copy2eps(file="run0014-s.eps")

boxplot(x) # UOUODO (BoxOOODO)
dev.copy2eps(file="run0014-b.eps")

rm(x) # JO0O00O0O0OOOO

Histogram of x
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e DU DUODLOODODLODUDODDLODLOUDbDLODOUOOODLOOODDON n =
100,1000,10000 00000 obOOoooooooboboogooobobobood
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# run0007.R
# JO0O0O U(0,1) n=10"2,10"3,10"4

for(i in 2:4) {
n<- 1071 # 200000000
x <- runif(n)
plot(x,1:n,pch=".") # O00O0O0OO0O0OO
dev.copy2eps(file=paste("run0007-r",i,".eps",sep=""))




hist(x,freq=F) # D0=0000 f_x(x)
abline(h=1,1ty=3,col=2) # O OO

dev.copy2eps (file=paste ("run0007-h",1i,

] .epsﬂ ,Sep=" II))

plot(sort(x),(1:n)/n,type="1") # U0O=00 F_X(x)

abline(0,1,1ty=3,col=2) # O OO

dev.copy2eps(file=paste("run0007-s",1i

boxplot(x) # OO OO (BoxOOODO)

dev.copy2eps(file=paste("run0007-b",1i

}
rm(i,n,x) # 000000000
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# run0013.R
# 000000 (0Oo0oOoo)

n <- 1000 # OO0OOOODOOOOO

for(m in ¢(10,100,1000,10000)) { # m=000000O
x1 <- matrix(runif(n*m),m,n) # D0O0O0O000OO00O0OO0O0O0 mxnO00O
x2 <- apply(x1,2,mean) # D00 nm0O0000000000 00000000
hist(x2,freq=F) # n 0000000 O0O0OO
dev.copy2eps(file=paste("run0013-h" ,m,".eps",sep=""))

}

rm(n,m,x1,x2)
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3.1 00ooogogd

e JUUOUOLDDLDULOOUODLDLDLOUOOODLDLDObOULOUOUbLDLDDOU

# run0008.R

# 0000 N(O,1) ODOOODOOODOO

x <- seq(-3,3,length=300) # (-3,3) 0000 300000000
plot(x,dnorm(x),type="1") # JUDOOODOOOO
dev.copy2eps(file="run0008-d.eps")
plot(x,pnorm(x),type="1") # DO DO OODOOOO
dev.copy2eps (file="run0008-p.eps")
rm(x) # JO0O00O0O0O0O0O0O
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fx(z) = \/1— exp (—%2)

2w
Fy(z) = /_OO Fx(s) ds

X~NO1)OOY=06X+,0000000Y ~N(uoe2)0000000

X ~N(u,0*) = aX+b~ N(ap+b,ad’c?

0000062 (00000)00000: N(u,0?)

Ix(z) =

[
/I\
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V2mo? P
EX)=a, V(X)=0b

3.2 UOOOOOO

e JOODO N(O,H)ODODDOODOODOOOOD100000O0ODODODOODODOOOOOODODOO

# run0015.R
# 0000 N(o,1) OODOODOOO

n <- 10000 # DO 0OO0O0O0OOOO
x <- rnorm(n) # (O0O=0,0000=1)000000 000
plot(x,1:n,pch=".") # OO0 OOOO0OOOOO4,...,n00000
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dev.copy2eps(file="run0015-r.eps")

hist(x,freq=F) # DO00O0OD0OODOOOOODOOO

x0 <- seq(min(x),max(x),length=300) # xUOOOOO0ODO 3c0000000
lines(x0,dnorm(x0),co0l=2,1ty=3) # 0000000 OOOOODOOOO
dev.copy2eps(file="run0015-h.eps")

plot(sort(x),(1:n)/n,type="1") # U0 UODO0OOO0OOO0OOOODOODOO
lines(x0,pnorm(x0),col=2,1ty=3) # 0O OO
dev.copy2eps(file="run0015-s.eps")

rm(n,x,x0) # JO0O0OODOODO0O
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3.3 Uoooood

e HUOUUODLODLDOUOOODLDLDUOOODLDLODDUOOODLDLDUOOO

# run0009.R
# J00pooooooggoo

n <- 10000

x1 <- runif(n) # (0,1 0UIDOODOOO0O 10000000

x2 <- gqnorm(x1) # DO ODOOOOOOODOODO

hist(x2,freq=F) # 000000 (QODOODOO)

x0 <- seq(min(x2),max(x2),length=300) # x20 0000000 3c0000000
lines(x0,dnorm(x0),col=2,1ty=3) # U OO O0O0O0OODOOOOOOOO
dev.copy2eps (file="run0009-h.eps")

plot(sort(x2),(1:n)/n,type="1") # DO DOO0OODOODOOOOOOODOODO
lines(x0,pnorm(x0),col=2,1ty=3) # U OO0
dev.copy2eps(file="run0009-s.eps")

rm(n,x0,x1,x2)
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E(XJ = W, V(XZ) = 0'2

m O 0400

Xi+--+ X,
m

EY)=p, V() ==

m

mO00000000000000YOOO0OO00O N(u,0?/m)0000

Z00OO00OOODO0OO0O0OMmMOO0O00000
_v/m(Y —p)

O00000Om—ood000 ZO0ODOOODOOOOO N(O,1) 000000

# run0010.R
# 000000 (oooooaa)

n <- 10000 # UUOOUOUOOOOOOOO
m<- 10 # U0O0O0O0OOOOOOOOO0OO0

X <- matrix(runif(n*m),m,n) # DJO0OO0O0OO0O0OO00OO0O0OO0O00 mknO00O
y <- apply(x,2,mean) # 000 n000000000O0nO000OO0OO0OO

hist(x,freq=F) # DO U00OO0ODOOOOOOOO
abline(h=1,co0l=2,1ty=3)
dev.copy2eps(file="run0010-hx.eps")
plot(sort(x),1:(n*m)/(n*m),type="1") # OO0 OO0OODOODO
abline(0,1,co0l=2,1ty=3)
dev.copy2eps(file="run0010-sx.eps")

hist(y,freq=F) # mnO0 00000000 OO

heikin <- 1/2; hemnsa <- sqrt((1/12)/m) # YOUODOODOOOOOOO

yO <- seq(min(y) ,max(y),length=300) # yO U OUODOOOO 300000
lines(y0,dnorm(y0,mean=heikin,sd=hensa),col=2,1ty=3) # DO UO0OO0ODOO0O
dev.copy2eps(file="run0010-h.eps")

plot(sort(y),(1:n)/n,type="1") # DO OO OO
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lines(yO,pnorm(y0,mean=heikin,sd=hensa),col=2,1ty=3) # DO 0O
dev.copy2eps(file="run0010-s.eps")

rm(n,m,x,y,y0,heikin,hensa)
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e shape = alscale=10000000 Ga(a,1)

gobobooodn

e X ~Ga(a, )00 Y =sX0OOOOOY ~Gala,s) 0000000

X ~ Gala,s) = kX ~Gala,ks)

e shape allscale sO OO 0O0OO: Ga(a,s)

0= g (e (). o

E(X)=as, V(X)=as?

+*

run0011.R
# 00000 Ga(a,s) a=shape,s=scale

<- seq(0,10,1length=500) # (0,10) 0000 500000000

»

i <= ¢(1,2,3,5,10) # shape OO QOOO

j <= 1 # scalel [

y <- sapply(i,function(a) dgamma(x,shape=a,scale=j)) # OO0 5005000

matplot(x,y,type="1",1ty=1,col=1:5,ylab="density") # DD O0O0OOODO

legend(5,0.9,paste("shape=",i,",scale=",j,sep=""),
col=1:5,1ty=1,bty="n") # 00O

dev.copy2eps (file="run0011-d1.eps")

i <= 2 # shape [

j <= ¢(1,2,3,4,5) # scaleOOODOO

y <- sapply(j,function(s) dgamma(x,shape=i,scale=s))
matplot(x,y,type="1",1ty=1,col=1:5,ylab="density")
legend(6,0.3,paste("shape=",i,",scale=",j,sep=""),col=1:5,1ty=1,bty="n")
dev.copy2eps(file="run0011-d2.eps")

rm(i,j,x,y)
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4.2 UO0O00O0O0O0OOOOO

e HUUOUOLODLDUOOODLDLDODUOUOODLDOOO

e Ga(l,s)0000shapea=100000scale=s 0000000 sO00000O

fx(z) = 1exp (—£> , x>0

S S

e Ga(n/2,2)0000shape a=m/2000scale=20000000000mO00000O0O
gbobbooodbnObOO0Ooooobobo

—2)!!
F(m/Q):M, (m—2l=m-2)x(m—4) x---x1
o(m—1)/2

L(3)=vm T(E) =5V I(3) =3V
e HUUOOUDLDLDOUmUOOLODLDLDOOOODLDLDDLODUOO mUOO0bLOOOOOOO

X1, X~ NO,1) = X4 +X2~\2

# run0018.R
# J00poooooog ocggobooooo

n <- 10000 # JUOUOOUUOOOUoon
m<-5# 0000000 O0O0O0O0O0OO

x <- matrix(rnorm(n*m),m,n) # N(O,1)O000000000 mxnO0O0O
y <= apply(x,2,function(v) sum(v~2)) # DO 0OOO0ODOO0O
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hist(y,freq=F) # nO0 0000000 OOO

yO <- seq(min(y),max(y),length=300) # yO O OOOOOO 300000
lines(y0,dchisq(y0,df=m),col=2,1ty=3) # DO O0O0OO0OO0OOO
dev.copy2eps(file="run0018-h.eps")
plot(sort(y),(1:n)/n,type="1") # DO OO OO
lines(y0,pchisq(y0,df=m),col=2,1ty=3) # U U OO
dev.copy2eps(file="run0018-s.eps")

rm(n,m,x,y,y0)
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4.3 U0O0OO0OO0OOOOOO

e 0000 (a,5) 0000000000 w000 (00000000 )0DOODOODO
00000000 (ue)0ODOODODODODOOOODOOOOO

p=as, o’=as® <& a=p’/o’, s=0/u

# run0012.R
# 00000 Ga(a,s) mul sigmal 00

gshape <- function(mu,sigma) mu~2/sigma”2 # shape [ [

gscale <- function(mu,sigma) sigma~2/mu # scale O[O

x <- seq(0,10,length=500) # (0,10) 0000 500000000

17




i<-¢(1,2,3,5,10) # muOOO00O0O0O

j <=1 # sigmall[]

print (rbind(gshape(i,j),gscale(i,j))) # shapell scale U

y <- sapply(i,function(a) dgamma(x,shape=gshape(a,j),scale=gscale(a,j)))
matplot(x,y,type="1",1ty=1,col=1:5,ylab="density")
legend(5,0.9,paste("mu=",1i,",sigma=",j,sep=""),col=1:5,1ty=1,bty="n")
dev.copy2eps(file="run0012-d1.eps")

i <=5 #mulU0

j <= ¢(1,2,3,4,5) # signa0 00000

print (rbind(gshape(i,j),gscale(i,j))) # shapell scaled OO

y <- sapply(j,function(a) dgamma(x,shape=gshape(i,a),scale=gscale(i,a)))
matplot(x,y,type="1",1ty=1,col=1:5,ylab="density")
legend(7,0.3,paste("mu=",1i,",sigma=",j,sep=""),col=1:5,1ty=1,bty="n")
dev.copy2eps(file="run0012-d2.eps")

rm(i,j,x,y)

> source("run0012.R")
[,11 [,2] [,3] [,4] [,5]
[1,] 1 4.0 9.0000000 25.0 100.0
[2,] 1 0.5 0.3333333 0.2 0.1
[,11 [,2] [,3] [,4] [,5]
[1,] 25.0 6.25 2.777778 1.5625 1
[2,] 0.2 0.80 1.800000 3.2000 5
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— mu=2,sigma=1
@ 4 — mu=3,sigma=1
© — mu=5,sigma=1

mu=10,sigma=1 g -

— mu=>5,sigma=1
— mu=5,sigma=2
— mu=>5,sigma=3
— mu=>5,sigma=4
mu=5,sigma=5

0.6

density
density
0.2

0.4

0.2
0.1

0.0
0.0
|

run0012-d1 run0012-d2
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4.4 000

e 000D DODOOODODOUOODDODOshapeO OO OscaleddO)
Xy ~ Galay, s), Xo ~ Galas, s), ..., Xm ~ Ga(an, )
e JUUOOODO
Y=X1+Xo0+4+...+ X
Y ~Galay +as+ -+ am, s)

e HUUOOOLODDOUOOODOO

X X4+ X,
N m

Y

Y ~Ga(ay +as + -+ ap, s/m)

# run0016.R
# 00000 Ga(a,1) OOOODOOOODOODOO

n <- 10000 # DO O0OOOOOODOO
m<- 10 # 000O0O0OO0OOO0ODOODOO
a <-1# shapeJ0 OO

x <- matrix(rgamma(n#*m,shape=a,scale=1),
m,n) # Ga(a,1)0O0O0OO0O0O0mxnO0O0O
y <- apply(x,2,mean) # 000 n0 00000000000 0OO00OO0OO

hist(x,freq=F) # Ga(a,1) 0000 OOOODOO

x0 <- seq(min(x),max(x),length=300) # xOUODOODOOOO 300000
lines(x0,dgamma(x0,shape=a,scale=1),col=2,1ty=3)
dev.copy2eps(file="run0016-hx.eps")

plot(sort(x),1: (n*m)/(n*m),type="1") # DO O 0ODOOODO0O
lines(x0,pgamma(x0,shape=a,scale=1),col=2,1ty=3)
dev.copy2eps(file="run0016-sx.eps")

hist(y,freq=F) # mnO0 00000000 OO

yO <- seq(min(y),max(y),length=300) # yOOOOOOOO 300000
lines(y0,dgamma(y0,shape=a*m,scale=1/m),col=2,1ty=3) # Ga(a*m,1/m)
dev.copy2eps(file="run0016-h.eps")

plot(sort(y),(1:n)/n,type="1") # DO ODO0DODODOOOOOOOOOOO
lines(y0,pgamma(y0,shape=a*m,scale=1/m),col=2,1ty=3) # Ga(a*m,1/m)
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dev.copy2eps(file="run0016-s.eps")

rm(n,m,a,x,y,x0,y0)

Histogram of x
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run0016-h run0016-s

gbooobbooboboobbooobbodbbrunooto.ROUODDOOmOOOOOO
m 0000000C0O0C0O0O0OO00OO0OOO0OOOOOOOODODODOD (DoODOOoOoO
run0010-h.eps D0 0000000 run0010-s.eps U0 000000000 OO)0OODO
run0010.R U U 0 00 run0010-hx.eps J run0010-sx U U OO UOOUOOUOOOOODOODOO
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5.2 00O 2-2

O00002-1000000(0,)000000 Ge(L,)(ODODOODOOOOODOODO)0OOO
dgbobtdmddbobobtodbobobtbdbobdbdibdlrun0010.RUDO OO Uheikin
UbhensaJU00O0O0O0O0OO0OOO0O0OOO0OO0ODODOOOODODODOOODOOO0ODLOOOODODO
gobobooodn

5.3 00 2-3%

gobob2200ruwno010.ROODODODUOODODOOOOOODOOOO0OODODOOO0O0ODLODOO
gboboboooobbooodd

5.4 00 2-4*

002100000000 U0(00,1)000000000000<p<10000001—-p0
00000 (000)000000O0O0U0U0O0OmODOOODODODOOODOODOOOOOOOOO
O000p=050000000p=1/m0O0000mO00000 p00000000O0O0O0O
goooo
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